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COMMERCE
(Honours Core)

Paper : COM-HC-6016
(Auditing and Corporate Governance)
| Full Marks : 80
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

Write the answers to the two Groups in
separate books.

Group-A
(Auditing )
Marks : 40
1. Answer the following as directed : 1x4=4

ROMITAIE oo e Ses B4l ¢

(@) An internal audit is done by full time
salaried employees.

(State whether the statement is True or
False)

BO1FC 0001 Contd.



(b) -

(c)

(@)

ST el RO SPET rsRIcetT
TN 7N FERT 2|
(Rt 797 ¢ =7y [a74ll)

A voucher is a documentary evidence
in support of a transaction. ‘

(State whether the statement is True or
False)

ATF TS 9ol Wﬁw’mwwﬁm
(Rgfecsr s o =P7ey 1er<0)

One of the objectives of cost audit is to

reconcile cost accounts an_d
accounts. (Fill in the blank)

Teoive T f2piet oI fapiol flerpad
FEIANG! 0 ROAATEER G5 S |
| (T HZ 779 )

The audit which is conducted at the
end of the accounting period is called
AN dit, M (Fill in the blank)

fepieple orwe & RoteA=R ARpE <= 2,
10 S I ©35) a2 Mo c et
(Tt 512 779 P9
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2. Answer the following questions : 2x3=6

oo il 2R Tl ol 8

(@) What is Interim Audit?
TG Rol=I=Sw FIF @02

(b) Mention two features of audit report.
RoleieiTl aformes 75 e ol

(c) Wiathsmenns by management audit ?

JREIR RoiseR i 52

3. Write on the following : (any two) 5x2=10

oo AT ©es ot ¢ (Remie 4ol
(a) Objectives of Vouching

AT AT SEHPTR

(b) Advantages of Continuous audit
g RolelASTwR JRAPER

(c) Remuneration of auditor of a compaﬁY
@A RolAASme AR

(d) Distinction between Cost Audit and
Management Audit

SeAI T {2iei= R i RIel
RpIAe_TFIT Ao i<y
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4. Answer the following questions : (any two)
10x2=20
weTe El e Oed Rl ¢ (R vbhy)

(a) What is internal audit? State the
advantages of internal audit. 3+7=10

eEsld o FIF @I e
2BivieR=i FRPRE I 511 |

(b) What is the meaning of vouching of
Cash Book ? Write the procedure of
vouching of Cash Sales. 2+8=10

P IR[ GNT AR 5w T2 Tow [Ew
AT AT Al &0 |

(c) Discuss the contents of an audit

report.
fEpreio el elframme REeRE Sitlba <51 |

(d) Explain various rights of a company

auditor.

11 251 #[qres [y 490 SfiPemR
IR <4y |
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Group-B
( Corporate Governance)
Marks : 40

Answer the following questions as directed :

(@)

(b)

(c)

1x4=4

oo eprE ot fE @ e Oe feid g

Good corporate governance is a

mechanism to provide protection to
interest. (Fill in the blank)

Ao =P T2 T T A
G TG | (<071 12 299 1)

theory assumes that resources
are the care and critical subject for the

overall growth of an organisation.
(Fill in the blank)

OEd W00 Wo! FRER ANET [P A
T (Z02 T S Sioel R | '
- (T 312 979 70)

Poor corporate governance can cast
doubt on a company’s

et FO AN W cRge v
o e |

(i) reliability (WSSl

(ii) integrity (3To®l)
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(iii) financial transparency ( SRR A
(iv) All of the above (@75 WIGIRER)
(Choose the correct alternative)

(o7 [Fescs AR TRsdr)

(d) German model of corporate governance
is two-tier board model.
(Indicate whether True or False)

ot (e TSt STIECe! 72 SRl NI
5w | (% (7 &7 [o73))

Briefly answer the following questions :
2x3=6

o7 fral epprge b Oed ol ¢

(@) Write two features of corporate

governance.
ot =i 757 GafE
(b) What is mbrality?
- ool e
() What is corporate philanthropy ?
o emfzredt i

Answer any two from the following

~questions : . 5x2=10

Fesre R 7br ek Tex forai ¢

(@) Explain the common governance
problems noticed in various corporate
failures.

Riey Fonm Reeor o Sie Srzeml
IR, 961 41 |

(b) Explain the concept of green governance.
CTSE == LIeIfC! <1t <o |

() Explain the relationship between CSR
and business ethics.

Rac =t 511 |

Answer any two questions from the
following : 10x2=20

oS Rl gt e Tex fordl 8
(a) Discuss the major corporate governance
reforms made in India. '
_ OIee (@iE Wol SR I AT
SIEETH 3|
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(b) What is corporate governance ? Discuss
two theories of corporate governance. -

2+4+4=10
oI = M 6 2 oIS %197 767 98 SIErs=i
Il
(c) Define codes and standards of corporate
governance. Explain the significance of

codes and standards on corporate
governance. 4+6=10

o *ioe [iE o Siwes wikest frmt | Faw
Ao [fd S Aved w9 PR 9|

(d) Explain the provisions of CSR under
the Companies Act, 2013.
@ w2, 2013 T TS o= s
Mo [RePrR SN 54 |
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